EARAROBEEIERT — 2 N— IBISH —F

2017888180 (&) 4mEF3H

Gl o%—# C3-_=

‘ [R1&] & ‘ [RERBB] — | & (&) 14000 &

[A~&£] 17 :800,000  ~ 23 :280,000 3 ~ 33 :160,000 M ~ 43 :120,000 @ 5 7 :80,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B o4 | PEHEE 1:31.3 1-1-1-1 | 39.6| — 1 438 | FEAKRE (BF)
1|55 F/7F77>2 54.0 s G | lIERE
LY LIAN—F BiKRUISFTATS #HA  HE
S pay: :31. —4-3- . = NIARE (GFFD)
Mol 7715-70>% # o | 2R e EO I I AT
LN=V754 B:h=—T7<vKRLF e
= B 7 | TTHE 1:32.5 11-10-10-6 | 38.0 | — 7 M1 | FEARKEE GEF)
3 7 X074 — 54.0 (6) o) ’J‘ﬁﬁﬁ?ﬁ%
RZANAF2—)b B:UMVLSTTYLYT NEFRE
= B R1Z : —3-0— — TREfwEE (aFn)
4 3|7 by i 5 e 1(.33/%7 3-3-2-3 | 40.7 3 (4_163; el
R:772UI7 BS54 MEr2 R EBRTF— L
g s e 4 5 | BEAER 1:33.0 7-7-6-5 |39.9| — 8 494 | SHARBEIC (GAFN)
5011 ]7>F=FINT—=F 56.0 (1 1/2) ) | LAET
L:TH AT hyh— B:v—AARKI—IFK =Rl %S
= # 5 | FERES 1:33.5 10-11-11-10{ 38.9 | — 10 | 4n | 1BEEESR (01)
Eﬂ P e @12 3 |BREE
R:707% B:XFHINZYNFX J—HrTr—LA
- - e 33, -4 5| - it (AF0)
NERETTIE w7 | B8 eI e R I R B -
R:772UL7 B:./-HR&a-— THES
. o4 | REFERL 1:34.2 6-6-5-7 |41.4| — 2 436 | NERR (A
8|8|10| 7 —AN—~ 5.0 @) +13) LS
RipoN=Z— B:Tr7F—hy b BEFHS
s o HAMERE :34. —9-8- . — AEFE— (GEFN)
9 s | I VIE—2Z 4 6 =5 (11314/25) 8-9-8-8 | 41.2 5 (5:519) i
LiAMyagvLyy B:FyXI Tl =Y Tr—LA
S FET— O ZEBA :35. 57~ A = RS (B
10 6 IXSES > % 5 G 1(355)1 5-5-7-9 | 42.3 1 (4_33 S
R:7H¥4Fa>aNK B:JL—ANZ— HET7— L
DRI o7 | WKR 1:35.2 9-8-9-11 | 41.9| — 9 487 | EEESB (W)
1)8| 11| TLIF A 6.0 76) (o) | EEEE
L:d—IWR7Y2—)b B:d—IKRFT7 I X pil=cbae]
® I —F—@EBIERL
13—7+— 5,8,3,9,6,10,1,2,11,4,7
2= = 5,8,3,9,6,10,1,11,2,7,4
Jol=5r= 5,3,9,8,10,1,6,2,11,7,4
40—+ — 5,9,3,8,1,7,10,2,6,4,11
[ N3
BB 5 150M 714K 5-9 380M % E 5-7 380M 3EHE 5-7-9 2,100/
8 B 5 120M 5-7 370M B B/ 470M K31 5-9-7 5,190
9 270M 7-9 1,280M B E 5-9 800M
7 290M B H 5-9 1,170

ABICOVWTRDTEEERROODE. TR LIV,




